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1. dfeq iy (foeh wmm) el 23 ok 39 4. Tl =g F W AW F T 10 om B I W
ToH AR A F fI9 TG H SWE 10 s B @l a1 ®| g9 9T Sidfae awatas, e
Fie Ay % & 3k e A = FE: 330 3R I ARG F T AR F | A A
m/s 3N 3x10% m/s &, N FEEE (TFF) HIFE gl 3Ry w0 7
Tt T 27

(a) Scm,aﬁl’ﬂl’ﬁ
(@ T 1650 m

(b) 10 cm, HAYEH
(b) T 3300 m

fc) 20 cm, HAfHEH
(c) <THT 990 m

(d) 20 cm, 39ER}

(d) T 1000 m

5. Frfaflas # ¥ F\-w1 wom Pz o=

2. g # SR wehren o on-ed e R 27 =fts % an & 7l #7
(@ 07 um (a) Tre-gfe aren =afe fre 6 axgsdt
duen ok [ A Fged AN v @@ R
(b) 06 pm U1 36 AW F P FA 5 o0 ¢ I
A 1 T R S )
(c) 05 um
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(d) 04 pm e 3R @ A wgel N guen Ta@ d
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o F A R s Ry
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guen 3k { fit argsit N wWe @ @
(@) Faa s fafio T 78 AW H P FA F oy v s
A 1 A R s

(b) Faa geH-ao fafm
(d) FFz-gfe aren =afe fwe 6 aged |

(c) 3t 3R gem-a0 fafdmm wWE AR R A g B Yuen @@ R
T W AW B P FA F e o I
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1. The time elapsed between viewing a

lightning flash and hearing the thunder
of a cloud is 10 s. If the speeds of
sound and light in air are 330 m/s and

3x108 m/s respectively, how far away
is the storm?

(a) About 1650 m
(b) About 3300 m
(c) About 990 m

(d) About 1000 m

2. What is the approximate wavelength of

violet light in air?

(@ 07 pm

(b) 06 pm

(c) 0-S pm

(d) 04 pm

3. Which electromagnetic radiation(s) is/are

used to cook food?

(a) Infrared radiation only

(b) Microwave radiation only

{c) Infrared and microwave radiations

(d) All electromagnetic radiations
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4. An object is placed 10 cm in front of

a lens. The image formed is real,
inverted and of same size as the object.
What is the focal length and nature of
the lens?

(a) 5 cm, converging

(b) 10 cm, diverging

(c) 20 cm, converging

(d) 20 cm, diverging

5. Which one of the following statements

with regard to a short-sighted person is
correct?

(a) A short-sighted person sees the
near objects blurred but distant
objects clearly and a convex lens
is used to correct this defect.

(b) A short-sighted person sees the
near objects clearly but distant
objects blurred and a concave lens
is used to correct this defect.

(c) A short-sighted person sees the
near objects blurred but distant
objects clearly and a concave lens
is used to correct this defect.

(d) A short-sighted person sees the
near objects clearly but distant
objects blurred and a convex lens
is used to correct this defect.
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6. ffafad & ¥ F-w Ffiwm, win 9. Frfafad # & F\-w1 S @R s (Feren

iR & e arn st 27 A) | wefE 27

(a) e g (a) =

(b) e TR (b) T

(c) i iy (c) TR

ohs © 3 (@) Fiua

10. Fr=fafaa § & F=-w1 A et vofia =afe &

7. Fefafad % @ few 9y S § gwq 9y T s % ¥ Pea A gw 44

HIFHI B B7 (gfaeie) & 7t Seran 27

(a) () Tt

(b) T=ias (b) HfFE-19

(c) Youa® (c) T o Hlo-TgH

(@) e
8. Freifefian # & F- waeh o T 27 13 ﬂgx'mﬁﬁﬁwﬂww

(@ €Y (@) TRt

(b) e (b) AfFw s

(c) Taat veht (c) &

(@) e (d) Berfa
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6. Which one of the following organelles is

not found in animal cells?

(a) Cell membrane

(b) Endoplasmic reticulum

(c) Cell wall

(d) Lysosome

7. Which one of the following plant tissues

has large air spaces?

(a) Sclerenchyma

(b) Meristem

{c) Collenchyma

(d) Aerenchyma

8. Which one of the following is not a

connective tissue?

(a) Ligament

(b) Tendon

(¢) Smooth muscle

(d) Cartilage
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9. Which one of the following organisms

belongs to the kingdom Monera?

(a) Diatom

(b) Euglena

(c) Anabaena

(d) Ulothrix

10. Which one of the following diseases does

not transmit through fine droplets
coming out from mouth or nose of an
infected person?

(a) Pneumonia

(b) COVID-19

(c) HIV-AIDS

(d) Tuberculosis

11. Which one of the following is not

a breakdown product of glucose during
respiration?

(a) Ethanol
(b) Lactic acid
(c) Water

(d) Methanol

[ P.T.O.



12. fFr=fafaa # & fa-a1 ©F e sl
1 I 87

(a) CaOfs)+ H,0f) —» Ca(OH), (ag)
(b) CaCOg4(s) — CaO(s) + CO, ()
(c) C{s)+02(g) —CO,(g)

(d) CH,4(g)+20,(g) — CO,(g)+2H,0()

13. Fg-fw % 962 =1 frefafaa & @ g
¥ g weifed e wer & arfE
foga-1y v 7 w7
(a) FTeH SRATHIEES
(b) TEGSH
(c) TEEISH

(d) HiadsA

14. U¥H 9RAE R FoogER, Tuew #
FH-Y Yt a7 e &7

(a) 9=, =ifa, s, T e @
(b) ARy, geeft, 3Afl, ST SR S
(c) &, wqfts, afh, smwm i s

(d) arg, g, i, gfy i 5@
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15. U guaren gy A 94idt wen § afn e femr

®1 390 39 % pH & #11 wN1g w27
(@) Yo G 8 sem

(b) FHS G B STUn
(c) Ya& AT 8 Smem

(d) FEa edtg 8 s

16. Aifean wEgidame ¥ @y fefafes § @

PH-HI °Tg- SRS W i T
a1 87

(@) TR AT

(b) TR e
(c) efrm sriwaTEs
(d) Hichan e

17. <= FfaEm uig verfes 3ra % |y sififen

w1 R, A FB av A A il v e )
T it A 7

(a) VWA AY9HH W GoHRE T & WY
Hfcwam A aifufzrn gva 78 §
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F 2 it 6t sTEvEEa Ad

(d) FfufEn % a1 T FReem gehe
et B &



12. Which one of the following is an example 15. A milkman adds a small amount of
of endothermic reaction? baking soda to milk. This makes the pH
of the milk

C
(@) CaO(s)+H,0() — Ca(OH),(aq) (a) strongly alkaline

(b) weakly alkaline
(b) CaCOjz(s) = CaO(s) +CO,(g)

(c) strongly acidic

(c) C(s)+05,(8) — CO, () (d) weakly acidic

(d) CHg4l(g) +20,(g) — CO,(g) +2H,0() 16. Which one of the following metal oxides
does not usually react with sodium
hydroxide?

- (a) Copper oxide

13. Packets of potato chips are usually
flushed with which one of the following
gases to prevent rancidity? (c)

(b) Aluminium oxide
Potassium oxide

fa) Carbon dioxide (d) Calcium oxide

(b) Hydrogen

17. When calcium metal reacts with
(c) Nitrogen sulphuric acid, the reaction stops after
a short while. Why?
(d) Oxygen
(a) The reaction of calcium with
sulphuric acid is not feasible at
room temperature
14. According to early Indian philosophers,

what are the basic elements described (b)) Formed calcium sulphate is
in Pancha Tattva ? insoluble in water and covers the

calcium metal, preventing it from
(a) . Earth, Fire, Sky, Gas and Water reacting any further

(c) Formed calcium sulphate requires
two molecules of water to crystallize
as gypsum

(b) Air, Earth, Fire, Sky and Water
(c) Gas, Land, Fire, Sky and Water

(d) Formed calcium sulphate is
(d) Air, Earth, Fire, Land and Water unstable
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18. @ S § W @rEet 9 W 4w frogs

20. Ffafaa # & #9-w €y agg T 27
! Fnfaa fFn s R, @ 9 fRow W@

ueE Tt A faves @ s ) Feafafea & @ @
FH-A1 T Afehan fEem-F a9 27

(b) wifeem &2
(a) <Td

(c) Fewafa
o (d) FeH T
(c) &

21. ¥A wfifs, frdft afigy # o aody o § @

(@) @i Tl 1w HE A e g A 15 A frgum varfia @ 21 10 ms
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7 7o ¥ I vaIfed @9 9 emaw i g
1 Bfi?
19. = fa ¥ woaa ofo & 9 ¥ wfefem = (@) 0015 C
ﬁﬁﬁhﬁiﬂw%:
(b) 0-15 C
c) 15C
(d 15C
o 3 3wt s - &7 22. Frffian # @ F-m i s = dn
T 27
(a) 2:35
(@ ¥R
3:45
(b) o s
(C} 9:15 (C) :ﬂw
(d) 9:25 (d) ve-fagq



18. When a white light beam is made to fall 20. Which one ainong the following is not
on a hollow prism filled with water, a luminous object?
it breaks into seven constituent colours.
Which of the following colours suffers fa) - Sun
the maximum angle of deviation?

(b) Proxima Centauri

(a) Red
(c) Jupiter
(b) Violet
(d) Alpha Centauri
(c) Green
(@ All v sgffer by equal amount of 21. Let an electric current of 1:5 A flow
deviation through an incandescent lamp in
a circuit. What is the amount of charge
that flows through it in 10 ms?
19. The following figure shows the image of (@ 0015 C
a clock in a plane mirror :
(b) 015 C
(g 1-5C
d). 15 C

Which one of the following is the correct
time? 22. Which one among the following is not
a renewable energy source?

oo (@) Solar

®) 3:45 (b) Wind

€ 9:15 () Nuclear

(d 9:25 (d) Hydroelectric
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23. fr=fafas § & $9-11 wigha (FTARMSA) =

wH TE ’7

(@) & #1 fages

(b) R 1 T

(c) TFTETETESE F1 AT

(d) W H H TEEME FSAl § TG

24, - SEl f Heafem F e #

frafafas § @ F9-w1 Fua wd Tt ¥7

(@ T SIS TEN FA 5 T gug e Hi
FravaEal Bl B

(b) T & T gug M i EAEEHA T
2

()  Shal g afie Ieas wmh I
#i 9 R

(d) A 9T FEE F GOE § 9 T g

25. Frafafigs # @ fre e A, F faa-=%

et oft sraeen # guey (AAHTE) T A 27
(a) Bt

(b) wERFRN

(c) IETA (eehiea)

(d) i

JNMK-F-BGS/67A

10

26. frafafes & | #F9-w1 gw ¥ w0 | gafea
i 77

(@) YATHS FEETGAA ;TR
(b) o Teeargadi  : qd (WF)
(c) TETEA-3Tgadl ;T AT
(d) e £ 55

27. Frafafea & & *R-d uig e, s@ @
vt | srfuferan et et 27

(a) Na

(b) Cu
(c) Fe
(d) Au

28, ffafes & @ #R-df oy “fiva s@ @
il o RIS S 1 87

(@) =@
(b) wifEaH
(c) dfan
(d) @

29. T seFRe # Ygfafam TRe % WY
a0 F W w1 feedn R s @) @
aftfrn & gy § fafafes & @ #¥F-@
FH |l 87

(@) T= sAfufrmn Fenadt At )
(b) T& rfufsF e g 71
(c) TS 3G w9 § i B Ry

(@ Trw, tghtem f gan 7 At
srfufsrarefiar 81



23. Which one of the following is not 26. Which one of the following pairs is not
a function of chlorophyll? correctly matched?
iti ic: Sh
(a) Splitting of water (a) Positively phototropic: Shoot

(b) Positively geotropic : Root
Ab ti f phot
® agsenk el v (¢) Chemotropic : Pollen tube

(c) Oxidation of carbohydrate (d) Hydrotropic : Flower
(d) Conversion of light energy into

chemical energy 27. Which one of the following metals does
not react with oxygen, water or acids?

(a) Na

24. Which one of the following statements (b) Cu
about life processes in single-celled ;

organisms is not correct? {c) Fe

(d) Au

(a) They require separate organ for
food uptake.

28. Which one of the following metals

i fi
(b0 Segarmte ; argRn. WCIGE g ot produces hydrogen with cold water?

respiration.
(a) Silver
(c) Waste of excretory material is -
produced by these organisms. (b) Sodium
(c) Copper
(d) They remain in contact with
external environment. (d) Iron

29. Manganese is extracted by heating

25. Which one of the following organisms manganese dioxide with aluminium
does not possess notochord at any powder. Which one of the following
stage of its life cycle? statements with regard to the reaction is

correct?

o Biaias (a) The reaction is exothermic.

(bp) Herdmania (b) The reaction is endothermic.
o) Bipestag (c) Manganese is produced as a solid.

(d) Manganese is more reactive than
(d) Salamander aluminium.
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30. Fmfafaa & & ®F-w1 et arrad wref § and

A Tl R A gear e @ 3 i @ smuw
1 3R g1 37

(@) G S
(b) TR YA
(c) Torpa-Foomenaa

(@) ] s

31. I GWE 9% (BRW) F W #§ P=fafaa

# W HH-|1 HUA T TE 7

(a) FETaA Hiftm B9 % HRO I FWTEAT
a% Tl e § R A R F g B
21

() " wEEAT IR WeNfER % fog
faftm axgetl =i Jael F sem-sem
FAE] ) I9TET GWTEAT 9% R S9Nl
Eicid

(¢) Taemm denfiet i @Al & sl
IYET 9T 96 | g1 I8% iR
ot fag wmer R

(d) JIEH BT 9% W, Th YUY % Ieqme
F g 9T F Iere § giads feg e
QAT I Gl £
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32. Tt axg & forw Froa-se A wmn w1 Bk

F9 Toran wman 7

1. @ uR W f& g et amen &
sravae a1 fefiangf @

2. @ IR W & fFm dm o ag
fopeq vty B

3. Fd=Een § oM ¥ 3fg ft | F mun
®

4. I 992 W I%g F N4 HEW &
YR T

= o ¢ F2 w1 WM W wd W ghe)
(@ 1,233

(b)) Fad 1 3N 4

(0 1,234

(d 33R4

33. fdt svelegaeen @ yemdig 3 dfys Aifeal &

weol #, Fr=feiflaa § @ F9-w1 @ R
(saifes Rfawsr) ¥ ¥4 & 4 o 87

(@) FaREH AR

(b) & =1 wfeadi W X (fad 1 ©)
(c) Gell ISR IRETeH

(d) e $ma |

34, SHIfFH G0 Risd & F=ffaa fra =

# 99 3fR geg _, <M1 €, AR W W el
44

(@) 33 fer =
(b) wRiYE fEr =
(c) Tadt farem =
(d) Tm= fer =m



30. Which one of the following properties 32. How is the magnitude of price elasticity
decreases across the periodic table from for an individual good determined?

RUE N S e tnanaipet top to 1. By the degree to Which the good is
bottom? L
a necessity or luxury

2. By the extent to which substitutes

(a) lonization energy are available

3. By the rate of income growth in

(b) Electron affinity the economy

4. By the relative importance of the

(c) Electronegativity good in the consumer’s budget

Select the correct answer using the code

(d) Atomic radius given below.

(@ 1,2 and 3

31. Which one of the following statements (b) 1 and 4 only

about production possibility frontier is fc). 1, 2 and 4
not correct? (d) 3 and 4
(a) The production possibility frontier
the resoﬁrces are limited. an automatic stabilizer in the context
of fiscal and monetary policies of an
economy?
(b) The different combinations of i
various goods and services given (@) Personal income tax
the available resources and (b) Reverse repo rate of bank
technology are denoted by the ;
production possibility frontier. () Open market operation

(d) Bond price

(c) Any point on or inside the

production possibility frontier is

attainable under the existing
technology and resources.

34. Broadly both birth and death rates are
low in which one of the following stages
of demographic transition model?

(d) On the production possibility (o). FRGtY Sentionpy e

frontier, the output of one (b) Early expanding stage

commodity can be increased
without changing the output of
another commodity. (d) Low stationary stage

(c) Late expanding stage

JNMK-F-BGS/67A 13 [PF0O.



35. Ffafes # ¥ FF-11 928 vam H St
F 9T 87
(a) STHf @
(b) ¥ HWG
(c) T N FH
[d) = amm

36. @@ YN B | STragEt F i
1 T Y HT FEQ 87

(@) F& (JmR)

(b) T gT (=)

(c) fot

(d) waTeTgE! faet ()

37. "l # frdft e 6 Py sefefy 3@ F=a@
% for Frefefaa § A e smavasa @fi?

(a) FaA IW WH F AGW

(b) T I TIH FHT R

(c) I8 TIM F e 3R I A
(d) I8 TIF F 7 @ A, 7 @ IR

38. T4 i 9 s g At =il 27

39, 7@ #Fl #, Iaq:, w@ fAduw ¥ v faed
(e firiee) sraeg @ o &, @ FefaRea
H § B-f o smer A 7

(a) et T
(b) T

(c) =ghe
(d) FBR
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40. frfafas & ¥ fra we-gs ¥ dm S

&3 ¥ e srfterren o el weom el =1
gftem &= g & a7

(@ T 2250 $o Yo
(b) T 2000 $o Yo
(c) T 1800 ¥o Yo

(d) = 1700 o Yo

41, WS R ¥ YA U9, AANE FRE &

T B A7
(@) TPTA

(b) FET

(c) gaY
(d) whfd

42, T&Fd it A Frafafes waed v %

TR F1 HH-9 TH T8 §9 § gafea T@
27

(a) S : FYEAGETR

(b) [EWEN : FgIRa

¢ Toegm : faFwrsa=ia
(d) Fe™ : FrHEEr

43. Tyq Fon el #, F=fafea § ) wem g8 #

aftfat (381) gega: e gz § seh = #7
(@) ¥ G

(b) N3 FSA

(c) T A

(d) @A



35. Which one of the following is a pull factor 40. Most of the mature Harappan sites in

for migration? the region of Cholistan had been
(a) Natural disaster abandoned during
(b) High wage (a) C. 2250 BCE

(c) Housing shortage
8 utbumpine (b) C. 2000 BCE
(¢ C. 1800 BCE

36. What is the depression at the top of
a volcano following a volcanic eruption (@)

called?
(a) Chamber

C. 1700 BCE

41. Madhyamika Karika, the basic text of

s Madhyamika School, was composed by
(c) Cinder -
(d) Crater (a) Nagarjuna

(b) Asanga
37. In order to find out the absolute location
of a place on the map, which of the (c) Vasubandhu
following will be required? (d) Dh Kirti
(a) Latitude of the place alone
(b) Longitude of the place alone

(c) Both latitude and longitude of the 42. Which one of the following pairs of
place authors and Sanskrit literary works is
(d) Neither latitude nor longitude of not correctly matched?
the place (a) Somadeva : Kathasaritsagara
38. The speed of the wind is measured by (b) Ashvaghosha : Buddhacharita
(@) wind vane (c) Bilhana . Vikramankadeva-
(b) wind rose charita

g) :naz;‘:;;r (d) Kalidasa . Vasavadatta

39. In the course of a river, in time, which 43. In the Mathura School of Art, Buddha’s
one of the following features is formed images are largely carved in

when the old meander is closed off by

deposition? (a) Dhyana Mudra
s af e (b) Abhaya Mudra
::)) I(;:::w lake (¢ Dharmachakra Mudra
(d) Flood plain (d) Varada Mudra
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44, 99 TeuE gRfagy w1 w6y frefafes § @

ot quaTes sraR @ 37

(a) ST 3R TR

(b) FHTER (FrEW) 3R Arefen
(c) FHER (FFR) R geidtam
(d) FAER (FFEW) AN Sferrermg

45. It & raareAl 6 veeE fefafaa § @

fordty o @ < T R
(@) 31"
(b) TH
(c) &9
(@)

46. I=qq e 1 F=fafgs ofet 4 @

H-H I AT F) off w2 ) R
(a) TeTEHR ARk

(b) =T F gHe wiaa BRdt e 9 g
# quf = %@ it ot

(c) “fverE =T i i

(d) T oo afeeedt it AR/
AR FA H wiw

47, WG %1 GauM, g AUHR F ®9 #§ Feafafaa

H § forgehl T i 3w RY

(a) THA F1 ARHERT

(b) Tw % o AR

(c) wuft &1 Afwr

(d) SR 3R FRER FH F1 AR
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48. I=H IETeE % an § frafafas sa=t d @

FH-91 e TE 7

(a) R4 & ®RAEA F gede 129 R
ITWT 144 & dald, A H
FaaET & fore €8 3 Y v I=am
e # fafga $ wh R

(b) TETEHR AfFIRE Y I=TH A §
Tfea farn T )

(c) 3l T3 #ifi st ®, 9 =AW =,
Hfaug ahfeufedt & wefs =1 @ 22 F
THR F FHAT 2

(d) I=MW AREE g0 AiNg foftr yma %
T=ags % i ot = meEl % fog
g B

49, @r% @ dffy % ar § Frafafas s & @

-1 TE R7 :

(@ 3@ wfufe & &% @ ¥ 15 wew 3
TG 891 @ 10 66 ¥ i 71 8 81

(b) Tam wh afufy #1927 gew A R)

(¢ Tfa F wew #1 FHF@ T o w7
B 1

(d) TG @ ¥ mite ofife $ et W=
FHEFA, TSI G F I Ja1gd 84 &
TGS T S B

50. I=qH AT & <ARndW F w9 § R e

foran < g 87

(@) T aAftew =, e el = 3§
FH-U-59 <9 99 a% iy saam e
?

(b) T 3= A F AEEin @, S
F-V-50 I 99 7 =y @© R

(c) WG % TPyl 6 T & grma faften

(d) Tt =afs ), St F9-8-9 958 9§ a5
TR 92 W @R



44. The Mauryan capital of Pataliputra has

been associated with the archaeological
remains of

(a) Bulandibagh and Rajagriha
(b) Kumrahar and Mocharim
(¢ Kumrahar and Bulandibagh
(d) Kumrahar and Jalalgarh

45. The Satavahanas are identified in the

Puranas by which one of the following
epithets?

(@) Andhras

(b) Shakas

(c) Kshatrapas
(d) Sungas

46. Which one of the following powers of

the Supreme Court is also conferred
on a High Court?

(a) Advisory power

(b) Power of doing complete justice in
any cause or matter pending before
the court

(c) Power of court of record

(d) Power to allow/refuse Special Leave
Petitions

47. The Constitution of India does not

guarantee which one of the following as
a fundamental right?

(a) Right to equality
(b) Right against exploitation
(c) Right to property

(d) Right to carry on trade and
business

JNMK-F-BGS/67A
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48. Which one of the following statements

about the Supreme Court is not correct?

fa) Under Article 129 and Article 144
of the Constitution of India, the
Supreme Court has been vested
with power to punish for contempt
of court.

(p) The Supreme Court has been
vested with advisory jurisdiction.

(c) The Supreme Court may refuse to
provide opinion to the President, if
so asked, in certain circumstances.

(d) Law declared by the Supreme

Court is binding on all courts
within the territory of India.

49. Which one of the following statements

about Public Accounts Committee is

. correct?

(a) The Committee consists of not
more than 15 members from the
Lok Sabha and 10 members from
the Rajya Sabha.

(b) The Finance Minister is an ex officio
member of the Committee.

() A member of the Committee is
given a term for one year.

(d) The term of the office of the
members of the Committee from
the Rajya Sabha is extended

even when they retire from the
Rajya Sabha.

50. Who can be appointed as a Judge of the

Supreme Court?

(a) An advocate who has practised for
at least ten years in any court

(b) A Judge of a High Court for at least
three years

(c) A distinguished jurist in the
opinion of the President of India

(d) A person who has held a judicial
office for at least fifteen years

[P.T.O.



51. & i fisn 9@ uig ¥ ame Ml W

TeresRt O e s ST R 3 T e w5
=1 T 27

(@) 2 cm
(b) 6 cm
(c) 4 cm

(d 1cm

52. A ¥R B ¥ Wifew @ ® {guE 7: 10 B

% G F I 2: 381 IR A 3 BH A
Y% € 1,000 i 91 6 o=d = &, 9 B
6t T A = Bf?

(a) ¥ 9,000
(b) € 10,000
{c) ¥ 15,000

(d) ¥ 12,000

53. A 3R B3HI firer st %5l 1 20 o A @

R THd Bl B 3R C ] e ot w8 9
30 77 # g = HHd ¥ AR A R C 2
e @ fmdigwsem s @A
¥ e T & 5@ w1 =1 qu wm?

(@) 352 T
(b) 3711
() 342fa
(d) 332w
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54. T U3 0AH # 9 2 @l B AR U7 wF 9

It I léﬁm@laﬁm% o=
aﬁmﬁgﬁiﬁﬁ%ﬁ@’ﬂ?

(@) 12 %2
(b) 1234 %2
() 1332
(d) 13:10 §2

55. 32 Tl a4 # ygen o fEw R, @ s T

1 vecht wal # BA-w R dme
(@) HAR

(b) WIEER

(c) !rﬁant

(d) dHaR

56. Frfafaa Suai § ¥ FH-11 T 78 27

(a) e faeen § iy Hi @ 3uh g @
il @, @ IV = A gy B R

(b) 5= Fo foRiw argedt A win § qRadq
T A WERH  (3EEIE) % wR0
defEl (Sfa) ww @ s ¥, @
AT USPTR 1 Goid Bl B

() Fd=ae § 7@ F uforrEsy S5y
ST Beft &)

(d) i AT fii e § mifte Remh =
TR Bt B



51. Eight metallic balls of one centimetre 54. A tree is at present 9 feet tall. If every

radius each are melted into one ball. year it grows %th of its height, what
The diameter of the new ball is will be the height of the tree after
three years?
(@ 2 cm '
(a) 12 feet
(b) 6 cm
(b) 12-34 feet
c) 4 cm )
(c) 13 feet
({d 1cm

(d) 13-10 feet

52. The ratio of monthly incomes of A and B
is 7:10. The ratio of their expenditures
is 2: 3. If each of A and B saves ¥ 1,000
per month, then what will be the

B85. If first March of a year is Sunday, which
day will be the first February of the

4 next year?
monthly income of B?
(@ €9,000 (o). Faoay
(b) ¥10,000 b} - Tagpcay
(c) 15,000 (c) Saturday
(d) 12,000 (d) Monday
53. A and B together can finish a job in 56. Which one‘ among the following
20 days. B and C together can finish statements is not correct?
the same job in 30 days. If A and C
together can finish it in 24 days, in how fa) When thc:. SEION . GrOws slowly
many days can A alone finish the job? than its potential, the

unemployment rate rises.
(@) 352 days
(b) Structural employment occurs
when jobs are eliminated by
(b) 37 "lf days changes in demand for particular
goods or due to automation.

Recession in the economy leads to
342 d (@ y
L i, 2 cyclical unemployment.

(d) At full employment, the measured

2
(d) 337 days unemployment rate is negative.
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57. 3 HEAl F F Fgd &, PR gl gwa

e IR UG T, Gl We] IO F
o TR W/ | A B s 27

(@) T R
(b) FEhife i
(c) 3F Yo

(d) Inaie fens

58. Tt it <9 1 g1 & w9 § w=rw Ru sl &

fore, vt fimfirfa § 4 #-a fAawad 2
ey

1. fafmm ik & mwadi $ w9 § =9
Exc|

2. Fd Igd A * fow 9E T
3. ¥Ev € wod 4 Rwifa B ik
4. %feyd WM § IR e AW

ﬂ%ﬁﬂ@?ﬁ@nmmﬁmgﬁm
(@ 1,2 3R 4
(b) ad 2 3R 3
) 1,233

(d 1,3 3R 4
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59. 94 2009-10 ¥ 2018-19 ¥ 1w gwa aftfq

o4 (Sflo dfie To) & Fgt-ar iR az <wia
& % wma g7 a6} & o o wo F Fa1 FEw
+ e & ofy g€ R Pefrfa & @ el
ftrpam gfg € 7

(@) Tagd, *m, Semgfd iR = IwEfE
Hard

(b) AR, §ed, qiEE, G9R R yaRy ¥
Heiftrg Yard

(c) TR T, & SR 3 Aand

(d) Trfm, s der (sfe-smeR) sk
HraaTs dant

60. UsR el % anur W, sfeyaer 51 frg

THR & §Fedl & faifom frn sman 47
(a) E3a 3R rEmda Ve

(b) Tisfi 3iv ardefe da

(c) HeHt iR y=om dam

(d) Tt fadiae ik s da

61. Ffafas § & $7-@1 ot sy @51

TR TE 27

(@) FTERH G
(b) T e e
(c) “TA-3TToEA

(d) FTFE



57. The amount by which the equilibrium 59. The sectoral shares of Gross Value Added
level of real GDP exceeds the full (GVA) for the year 2009-10 to 2018-19
employment level of GDP is called show that the share of service sector

in GVA in India has increased over the

; years. Which among the following have

(@)  recessionary §ap driven the maximum increase?

(b) inflationary gap (a) Electricity, gas, water supply and

other utility services

(¢) income multiplier (b) Trade, hotel, transport,
communication and services

(d) automatic stabilizer related to broadcasting

(c) Public administration, defence and
other services

58. For anything to be recognized as money, (d) Financial, real estate and
it needs to have which of the following professional services
characteristics?

1. Act as an intermediate in the

60. On the basis of employment conditions,
exchange process

the economy is divided into

2. Standard unit for quoting prices (@) organized and unorganized sectors

3. Must be easily divisible (b) private and public sectors
4, Have higher value in alternative (c) seasonal and disguised sectors
uses
(d) primary, secondary and tertiary
sectors
Select the correct answer using the code
given below.
61. Which one of the following is not a

(@ 1,2 and 4 type of chemical weathering?
0 and. & Suly (a) Carbonation solution

(b) Salt crystal growth
) 1,2 and 3

(c) Hydrolysis
(d 1, 3 and 4 (d) Oxidation
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62. g1 H gA-1 % W gafm Hiftg ik
gt % = Ry 78 g2 #1 W@ W gl W

64. A HwavH fod Fal fa 27
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w: (a) ﬁmm
ok e (b) ITEE
-1 11
(e i) (¥ i) o) R
A @ 1. =i s (d) ST T
B. TwifiEN 2. & sufi
C. Wﬁ 3. ¥4 65. mmmmm:
- . 1. WY % frma T wiiwees @ el IR
W, B e TR Twd T P AR T
2 : 1 Ed TR ogw #® e
Aa Bk S 4 o
e Bt o 2. T w3} Wi s s
S U A1 ) YA W faw R
ﬂ’)g E‘ v 1 v i frl 9% wEe 5 I TR
wiaffert gra wdia fomn s an)
o= A, BT LD
WA YRy I FYET § A BA-A1/A T /R
@ A B C D
e S (@ Fad 1
(b) FaE 2
63. WRA § U M A AR A & &I TER
Pt # @ A3 87 L i
1. TWRRE (d Ad1mad2
2. R
3. fomimme 66. Fg9 TR g0 ¥4 ¥ IR-uRweh 4 R F
4. R gea A giedl Gfie sew 2l it ded §
#i7
= g g 2 F W& W= wd W g L
(@) *ad 1 3R 2 s
(b) Haa 2 3N 4 (b) ST et
) 1,23R4 (c) TER e
(@ 13r3 (d) TRisemR e



62. Match List-1 with List-1l and select the
correct answer using the code given
below the Lists :

List-I List-Il
(Fold Mountain) (Country/ Continent)
A. Ural 1. South America
B. Appalachians 2. South Africa
C. Drakensberg 3. Russia
D. Andes 4, North America
Code :
AT T R R
3 2 4 1
(b) A B C D
3 4 2 1
B - Bt oD |
1 4 2 3
(d A B C D
1 2 4 3

63. Which of the following main types of iron
ores are found in India?

%

il o o

Haematite
Magnetite
Limonite

Siderite

Select the correct answer using the code
given below.

(@)
(b)
(c)
(d)

1 and 2 only
2 and 4 only
1, 2 and 4
1 and 3
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64. Where is Asan Conservation Reserve

located?

(a) Himachal Pradesh
(b) Uttarakhand

(c) Sikkim

(d) Arunachal Pradesh

65. Consider the following statements :

1. The early Sikh Gurus were religious
preachers and did not interfere in
politics but Guru Arjan extended
his good wishes for the rebel prince
Khusrau.

2. Guru Arjan attempted to organize
the finances by introducing the
system of more or less compulsory
‘spiritual tribute’ to be collected by
his agents called Masands.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

66. Qutb Minar was originally four-storied.

Who among the following Delhi Sultans
raised the height to the structure by
adding the fifth storey?

(a) Balban

(b) Alauddin Khalji

(¢ Muhammad Tughlaq
(d) Firoz Shah Tughlaq

[ P.T.O.



67. <& Headd 3R I+ Heivd &9 % Fefafay §

q -9 W v w9 | ghferm 7 27
(@) Fsm e R

(b) =l wTEl S

() FIa A et

(d) FHTE WE R

68. Tr=fuflaa sl w faem it

1. ¥FeR % WA H, 9oma | 7ay 0 9gd
8 &3 § <= yorrefl @n] Y T

2. wEd T F I WRA § FAga yoneh
% IAd e WO HHSR 9 T |

Iog R @ BT/ T /A
(a) & 1

(b) Fa 2

(c) 1 323

(@ F@1AAE 2

69. T ¥ THFEd I weafEl = wea R f

wfaum a3 i S g8 # oi 7
fafewn A5 =1 @ @, ffew S@1 @9 @
@ wEa &7

(@) Hwne R
(b) o HRo ez
(c) AT EIE @S
(d) o To TS
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70. T ¥ FF 1% 99 F9E 5 Fatew 6 Tl

e e 7

(@) Ra % Tgafa

(b) EEE A

(c) <% | 1 wErEfaE
(d) YE AN FT I

71. few @amar & AR § Fr=fafes s § ¥

FH-H1 & TE 27

() 9TG F T9-89 F iata fedt ot =afs
F THET YR F o sah s
wWaam ¥ dfvd @ w1 witeR TST F
e & 1

(b) TEh =afw ® 3uh A wdaa @ afE
@A w1 ur Y g it wien &
HFER A B =R

(c) e waaa 1 s 46 gesfiem
Tz gm ghifara ok s aean &)

(d) Te Fo MY AW HFE TT AW H
I=H AEEE 3 agea ¥ faf ) e
yisEa’ = e

72. U9 &t fifa F FRys o= % an § =l

T ¥ BE-F FYF 98 TE 87
(@) 3 T =EeE & yadfa =@ §)

(b) 3 Wit go siftprl | e B v
gl

(c) 3% wmifse o anffs =g ¥ dag
fora 1 gean 1

(d) 3% RYed FEN GeEa P A dag
Toran <t wa R



67. Which one of the following pairs of

Deccan Sultanates and their respective
regions is not correctly matched?

(a) Nizam Shahis : Bijapur
(b) Barid Shahis : Bidar
(¢) Qutb Shahis Golkonda

(d) Imad Shahis : Berar

68. Consider the following statements :

1. Under Akbar, the system of Zabt
was established over a large area
from Punjab to Awadh.

2. In the seventeenth century North
India, the system of Zabt lost much
ground to the system of Kankut.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

{(c) Both 1 and 2

(d) Neither 1 nor 2

69. Who among the following warned

his colleagues that the Constituent
Assembly was British made and was
“working the British plan as the British
should like it to be worked out™?

(a) Somnath Lahiri

(b) B. R. Ambedkar

(c) Shyama Prasad Mukherjee
(d) B. N. Rau
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70. Who among the following fixes the date

of election of the Speaker of the
Lok Sabha?

(a) The President of India

(b) The Minister of Parliamentary
Affairs

() The Secretary General of the Lok
Sabha

(d) The Deputy Speaker of the Lok
Sabha

71. Which one of the following statements

about ‘personal liberty’ is not correct?

(a) State does not have the authority
to deprive any person within the
territory of India of his/her
personal liberty without any
rational basis.

(b) Basis of depriving a person of
his/her personal liberty must be
in accordance with procedures
established by law.

(c) Personal liberty can be secured by
the judicial writ of Habeas Corpus.

(d) The majority view of the Supreme
Court in A. K. Gopalan vs. State of
Madras case invented ‘due process
of law’.

72. Which one of the following statements

with regard to the Directive Principles
of State Policy is not correct?

(a) They are not enforceable in a court
of law.

(bp) They can override all the
fundamental rights.

() They can be related to social and
economic justice.

(d) They can be related to giving free
legal aid.

[ P.T.O.



73. R4 & Glaum 6t B F g6y ¥ Fraftaa

FYE § Y BH-U1 GE) TE 27

(@ F“ERH F 7@ ® OF
AT TR G el 1| :

(b) SERmER # ¥RA % w@fauE B qe weE
fafea 21

(c) xfFE, o-3m, fFh =Eem #
Yaa41g 78l 81

(d) I=aq =mEreE 3 aAfRuiia fea @
el 9T 39§, 98 d@leum ¥ faftes
Fdaa o wes % w9 # R w =R
& = s wa R

‘qufras

74. YRd % WUfd % Fafew % fom fefssw

(seiera Fiow) # fFrefifas § 4 99 mia
T R7
1. U3 9w & o+t Faifaa ge=

2. T A fym-awet & wff faifa
e

3. TsAl i um-ufeg & avt wew
e fou I e 1 W R wd I ghu
(@ 132

() 23R 3

(c) %94 3

(d) ¥ad 2

75. A, B 3R C 3 ®99: ¥ 7,000, ¥ 8,000 3%

12,000 fRw +F =wag@ 3wy &)
99 96, BH 306 T F AW F w9 H
¥ 3,200 1| o T v gan?

(@ €16,600 (b)) 10,000

(¢ ®21,600 (d ¥10,800
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76. Tl wis fawata 99 #, w gemer s |

TEA W 40% H g2 @M ¥ I € 2,000
Hfhd qea hil ag F TN W 25% H 7
3o wedt ?| Frefafaa # @ @ awg w1 @va
oo 1 87

(@) € 1,800
(b) € 1,200
(c ¥ 1,600

(d) 1,400

77. TS 3R 6% far 6t ofwa omg 45 af 2) R

s & fia R q@ A oy T h oAy w
FA: A A AR R, @ TS F g ey
Teraht &7

(@ 758

(b) 90 Td

(c) 8198

(d) 844

78. 9% WY G ¥ §, ’E¥ 10000 et W

WTH HE&FT1 20, 24 3R 30 ¥ fawsw A7
(@) 120

(b) 800

(c) 80

(d) 83



73. Which one of the following statements

with regard to the Preamble to the
Constitution of India is not correct?

(@) The term ‘Secular Democratic
Republic’ was not there in the
Preamble originally.

() The Preamble contains the basic
structure of the Constitution of
India.

() By itself, the Preamble is not
enforceable in a court of law.

(d) The Supreme Court has held that
the Preamble cannot be considered
as an aid to the legal interpretation
of the Constitution, where the
language is ambiguous.

74. The Electoral College for electing the

President of India does not include
which of the following?

1. All elected members of the Rajya
Sabha

2. All elected members of the
Legislative Assemblies of States

3. All members of the Legislative
Councils of States

Select the correct answer using the code

given below.
fa) 1 and 2
(b) 2 and 3
(c) 3 only
(d) 2 only

75. A, B and C start a business by

investing ¥ 7,000, ¥8,000 and ¥ 12,000
respectively. After a year, B gets ¥ 3,200
as his share of profit. What is the total
profit?

(a) ¥16,600 (b) ¥ 10,000

() ¥21,600 (d) €10,800
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78. The

76. In a stock clearance sale, a shopkeeper

gives 40% off on all his items. He incurs
a loss of 25% by selling an item of
marked price ¥2,000. Which one of
the following is the cost price of this
item?

(a) ¥1,800

(b) ¥1,200

(c) ¥1,600

(d) 1,400

77. The average age of Raj and his father is

45 years. If the ages of the father and
the grandfather of Raj are respectively
two and three times that of Raj, then the
age of Raj’s grandfather is

(a) 75 years

(b) 90 years

(c) 81 years

(d) 84 years

smallest number which when
added to 10000 becomes divisible by
20, 24 and 30 is

(a) 120

(b) 800

(c) 80

(d) 83

[ P.T.O.



=
79. WH fifog fredt ARt %1 naf w2 1+g+%t|

gfe Avfi § 20 v ¥, @ Wht +| I
Frferfaa # ¥ feas o= 27

(@) 1360
(b) 1450
() 1500
(d) 1560

80. COVID v % faemm @1sdl & wam & fFem
Tm-fm sedgel @1 frdfs o wAg w1 @
44

(a) 60

() 150
¢ 100
d) 120

81. yau{l iR WEWH F FRU AN GTeht S g
Frfofaa & | fraa sifesm #7

(a) 3AHTA
(b) TR
fc) TRI&
(@) FHrm

82. T # Mwmed 3 ¥ fo s od g ¥
49 ¥ Tgd W@R g Oifta SR are
HIqd ) T FES &7

(@) TR EHHa
(b) Trim g
(c) =T TR <hi
(d) 3t frafe fma
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83. TR, ARV (), ¥ 3wy Frefafaa § )

el qrafy (Jfeeim) et &7
(@) &

(b) T

(c) M-I (SEHE)

(d) &

84. IMHE awiadl F Heaw #, fFefafaa & 4

FH-A U G &7

1. IwERada aufadt 6 gar i et
Bt B

2. Swfd weeffi R, Fmd  FRw
YHEI-Hyawe gR d-w wedt @
Rl

3. IR ‘I& T A=SIRa vy’ % w9 A
Iftia T R

4. 3 yatm IORE  yf-snuia
uiftfeufee o

= g T F2 w1 W@ W wd I i)
(@) a2 3R 4

(b) Fad 1, 3 3R 4

¢ Faa 1, 233

d 1,2 334



79. Suppose the nth term of a series is 83. Caves, arches, stacks and stumps are

» i £
1+ 24+ If there are 20 terms in the the lands(.:ape fegtnenof Whigh:one o
2.2 the following?
series, then the sum of the series is
equal to (a} River
fa) 1360 ;
(b) 1450 (b) Wave
1500
© (c) Limestone
(d) 1560

(d) Wind

80. How many different words, with or
without meaning, can be formed by
using the letters of the word COVID?
84. Which of the following statements about

(@) 60 tropical rain forests are correct?
(b) 150
1. The soils of tropical rain forests are
{c) 100 quite infertile.
(d 120

2. The vegetation is evergreen,
enabling photosynthesis to take
81. The widespread deaths due to starvation place year around.

and epidemics are the characteristics of
3. They have been described as

(a) famine ‘deserts covered by trees’.

ve
el < i 4, They are most productive land-
(c) civil war based ecosystem. i

(d) malnutrition
Select the correct answer using the code

iven below.
82. The price declared by the Government .
every year before the sowing season
to provide incentives to the farmers is (@ 2 and 4 only
called
(a) buffer price (b) 1, 3 and 4 only

issue price
®) . (¢ 1,2 and 3 only
(¢) minimum support price

(d) fair sustenance price d 1,2, 3 and 4
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85. fi=fefaa # & fbm a1 &, waw 6 wen &
Hitr At & 5 8 &5t & T @ B TR

FH HIYRY T9 W ¥ s 87
(@) o ga
(b) G T
(@ AT T2

(d) =7

86. &R ¥ @R ¥, Fr=ffEs s 4 A !

w6 &

1. 1560 % 39/ H, 37FaR 3 TR F1 fven
Eecioifl

2. 1570 % 30 #, IHeR A hogQ @
# 7§ Tert 9 @ Fofg femn)

3. I A il # 9@ welm faved ¥ e
FHOR % Aehat w1 i oft wiw B

4. 1585 #, e { YW AW F T
Wi @ & fofa feran)

1 i T F2 w1 v = wd I gy
(@ 1, 23R4
) 1,23R3
(¢ 2, 334

(d) ¥aa 3 3R 4
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87. TasETR ¥ sl & wn #, Prefifaa st

# R P-4 w7

1. IS 8 st & 5 1g et
TR A FA * g 1g-83 Ry e )

2. IR FA F weR ¥ IR % d=Ea F
TE-TEE & g Wt 3R T yaE fen
e 1)

3 Fuif@ &= ol ot T )

4, TN F Tffs ®9 A T A9 § i
Fo wHmfe TR % foe e &g
A IR F WY ToEER § IR A
O

= Ry g 2 w1 W W gd W R
(@ ¥Faa 1,233

(b) ¥ 1, 3 3 4

(c) Faa 23R4

@d 1,2, 334

88, frfafad # 4 ¥9-w1/8 7W @ w9 | gafer

?/%7

1. i s : EIe Fi-arerd
2. mm : mﬂ?ﬁ

3. WA weEE ;e Hadhe

i Ry T F2 w1 W W F@ W g
(@) Faa 1

(b) Faw 1 3R 2

(c) ¥aw 2 3R 3

(d 1,23R3



85. In which one of the following soils, the

salt content is so high that common salt
is obtained by evaporating the saline
water in some areas?

(a) Peaty soil

(b) Alluvial soil

(c) Laterite soil

(d) Arid soil

86. Which of the following statements about

Akbar are correct?

1. In 1560s, Akbar had the Fort of
Agra constructed.

2. In 1570s, Akbar decided to build
- anew capital at Fatehpur Sikri.

3. Akbar also commissioned a white
marble tomb of Shaikh Salim
Chishti at Sikri.

4. 1In 1585, Akbar decided to shift the
capital back to Agra.

Select the correct answer using the code
given below.

(@ 1, 2 and 4
(b) 1, 2 and 3
(¢ 2,3 and 4

(d) 3 and 4 only
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87. Which of the following statements

about Amaranayakas of Vijayanagara
are correct?

1. The Amaranayakas were military
commanders who were given
territories to govern by the Raya.

2. In lieu of their service and also
to maintain their contingents, they
were paid in cash.

3. They maintained stipulated
contingents and elephants.

4. They used to send tribute to the
king annually and personally
appeared in the royal court with
gifts to express their loyalty.

Select the correct answer using the code
given below.

(@ 1, 2 and 3 only

(b)) 1, 3 and 4 only

fc) 2 and 4 only

(d 1,2, 3 and 4

88. Which of the following pairs is/are

correctly matched?

1. Permanent Settlement: Lord

Cornwallis
2. Ryotwari Settlement : Thomas
Munro
3. Mahalwari Settlement : Holt
Mackenzie

Select the correct answer using the code
given below.

(@) 1 only

(b) 1 and 2 only

(¢) 2 and 3 only

(d 1, 2 and 3

[ P.T.O.



89. T ¥ fFR Retee # wd # @iF THE &

® # Witq =& Fem-3a-ges aeE
=1 39y "o hi?

(a) Faea @A
(b) EIG TR
(c) ehadl @™
(d) fam frefa @

90. T =afts # Frafafes gm siftd & @

FH-91 YoM € fohan T 27

(@) @ & Wy ¥ fow w 4 aftm ar
IfiEeE 3R <8 & favg W

(b) I favg AR & wwds % @ &
T § 90 TG-1@ H TG 2§ IHR
HE

(c) w4 3 foeg et F w9 § w6+

(@) Tt stoa & fo Smfdg 7 saue 1
w1 AfYHR, 59 7% 5 399 T FE HE
A F T, S AW & ¥ § A
2, Tt waa faftr = srfesrmon =i forem
?

91. wd & ®fayn # fa=fafea & 4 e fem

(a7Eh) F fore ws T § TR 1 A
A F1 IEYE 76 27

(@) FR G=d

(b) TR TRy
(c) R Frm

(d) el TR
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92. f=fafaa g W famam Hifsm

“26 SHEll, 1950 I &W Ayl 4 uRE
Sffad & yow F @ §1 Ui § gEn ue
wHEal grft a9 g ofR el sfaw §
TR 9 SrEEEa g

T8 I T A TR e @ 27

(@) T T

(b) TARH A

(c) o IARo eI

(d) ay wifed

93. WRd % Ugdfa # Fr=fafas viwt § 4 FR-d

Ter g I T j?

(@) waE i Fghe

(b) T F frdl gem A Fréa } waftm
Toret v W oqa foe @ fofa o

(¢ T W =t RN s T R
FT-IETeE g efea foman wn R

(d) ¥= ey & R =i ) g2

94, A7 Y AW YRT §9 F49, 1978 * Gay #,

frferfaa et A @ #19-w1 =& 7 27

(@ @& ffla fem mn & sg=de 19 3in
AT 21 IfEdAE  (dfR-mEe
FEnz) T 2

(b) a® Tvla femm mn 5 ag=d= 21 #
siafde +i§ faft, sgeae 19 6 s
1 g T Fdl 2

() Frag foamor & faemonds sfige &
e, wagama i A B

(d) Tt 21 F @@ go (ShEA) F
R #, Teg 1 Afwr mite 76 R



91. The

89. Who among the following assumed the

title of Nizam-ul-Mulk Asaf Jah to set
himself up as an independent ruler
with his base in Hyderabad?

(a) Kartalab Khan
(b) Bahadur Shah
(c) Alivardi Khan

(d) Chin Qilich Khan

90. Which one of the following fundamental

rights has not been provided to a
person?

(a) Protection against prosecution and
punishment for the same offence
more than once

(b) To refuse to give his/her sample of
handwriting as evidence to support
a prosecution against him/her

fc) To act as a witness against
himself/herself

(d) Right not to be convicted of any
offence except for violation of a law
in force at the time of commission
of the act charged as an offence

Constitution of India contains
no provision for the constitution of
municipalities in every State for

(a) a Nagar Panchayat
(b) a Municipal Council
(c) a Municipal Corporation

(d) an Urban Panchayat
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92. Consider the following quote :

“On the 26th January, 1950, we are
going to enter a life of contradictions.
In politics we will have equality and in
social and economic life we will have
inequality.”

To whom among the following leaders is
this quote attributed?

(a) Mahatma Gandhi

(b) Sarojini Naidu

(¢) B. R. Ambedkar

(d) Somnath Lahiri

93. Which one of the following powers has

not been conferred on the President of
India?

fa) Appointment of Prime Minister

(b) To decide at his/her discretion any
question regarding disqualification
of a Member of the Parliament

(c) To grant pardon to a person who

has been punished by a court-
martial

(d) To remove a Judge of the High
Court

94, Which one of the following statements

with regard to Maneka Gandhi vs.

Union of India case, 1978 is not correct?

(a) It was held that Article 19 and
Article 21 are not watertight
compartments.

(b) It was held that a law coming under
Article 21 may not satisfy the
requirements of Article 19.

(c) A fair trial eliminates the biases
against the accused in the trial.

(d) The right to life under Article 21
does not include the right to die.

[P.T.O.



95. % FHMER WA TEGHI W FAT: 10% 3N o8. I fFd W& 1 35%, 3 w=m F 27% A
5% 1 A HHF T2 IO B TWF 9@ q@ AT 416 U ?, ¢ 98 e B
gl H HHG 7 20% Mo THo Ao Srean

?1 afk et s 1 iftha w9 € 2,000 B, @ o9 sy
TTe H) g ) AR B @ P s o e
1 FH FHHd FHHT N7 c) 3900

(@) 3328
(a) 2:6% F8

99, WRd #, A veifedt # f=fafas 4 @

(b) 2:6% it e e w9 & T S A7
(c) GG AL (a) WWE

(b) Tt vefeat
(d) 52% 3ft® (c) = el

(d) Ui a=

96. Tl gwuftt w 2 3§ F fog 5% H affs =
R THgfG AN AR WER SN % efi" § 100. T 1 ThAI & W g AR ik

¥ 250 F1 3w ¥ | T g0 70 R7 g 5 A9 R m g R W
EGLE
(@ € 1,00,000 -1 -1
(b) € 80,000 (wETa =) (7)
A. Hags 1.
(c) ¥ 40,000 o
B. il 2. G
(d € 1,20,000 C. dre 3. T
D. ==d 4. fay
97. 75 ml ehiEd A foraa si@ freman s e Fe
ai fsror # sreehiest A 7B 25% B W kAL B seran
L i S
fa) 100 ml A R e e
 BSAL g L T
(b) 225 ml
o A uBeilBGaD
(c) 250 ml A2 it B SRR
A BT AD
(d) 125 ml RPN N T
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95. A shopkeeper gives two consecutive

discounts of 10% and 5% respectively
on his items. He then adds 20% GST on

08. If 35% of a number is 416 more than

27% of the same number, then the
number is

his items. If an item has marked price

¥2,000, how much more or less of a - $a00
the actual price of the item a customer (b) 2600
has to pay? () 3900
(a) 2:6% less (d) 3328

(b) 2:6% more L s
99, In India, Cardamom Hills are regarded as
a continuation of the
(a) Eastern Ghats
(b) Mizo Hills
(c) Naga Hills

(c) Same price

(d) 52% more

96. The difference of compound interest and (d) Western Ghats
simple interest of a sum of money at
the rate of 5% per year for 2 years is

#250. The sum is 100. Match List-I with List-II and select the

correct answer using the code given

(a) ¥1,00,000 below the Lists :

List-I List-IT
(b) 80,000 (Tributary) (River)
(c) €40,000 A. Sutlej 1. Yamuna
B. Kosi 2. Brahmaputra
(d) ¥1,20,000 C. Teesta 3. Ganga
D. Chambal 4. Indus
97. How much water is to be added to 75 ml Code : ,
of alcohol so that the mixture contains
25% of alcohol? f@ A~ B C D
1 3 2 4
(@) 100 ml BN - B D
1 2 3 4
225 ml
®) = e R D
(¢ 250 ml e S et R
(d A B C D
(d) 125 ml 4 2 3 1
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101. wRa § Frafefea # @ ¥9-w1 w8 we

??
(a) Fota (drgnia)
(b) AT
(c) IeTehrar
(d) TR

102. Fr=fafad # / - weega 78 T8 27

(@) H
(b) O
(c) T
(d) w=g

103. T UREET # 76 WWR ¥ WY-UY GoF W

9 9Tl Faiie Wi 9gH, fR 9eR ¥ 9R
¥ et ) &7

(a) Toe@R R (Hiem e)
(b) Fieiem sy (geivE are)
(c) T H ¥R (AeM AL)
(@) O MR (3T rS)

104. ard # gfg & fog Frafafea # 4 fm a2t

F SraTEFa Bt #7

AT A

e oo waw 5@ |
THII-HYerv & g s g v
23 °C 3R 25 °C 99°9H & &9 @I
Fro 5 (a1 9iR)

T2 o e e F v W oEd I gh)
(a) ¥3d 1, 33 4

(b) *ad 2, 3 3N 4

(c) Faw 1 3R 2

[d 1,2, 334

L e
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105. fmrdfieh wiEl #1 HaeH B ATl Faea uw,

gt ) form wxa o rd s 27

(@) ¥-78

(b) e

(c) @ S
(d) Al wie

106. F=fafas weEi w f=w $iftw .

1. A ReH § aaeErt syl % swn
F FRO AN AtEed iR s
ANEY % A9 § 1934 # Hig Qwfere
i i g v

2. 1936 #, VETEEE €€ 3 AW /A
FHER H 39 98 % &9 § @ER
A a1 FRarl ok afs ol A g -
g feam)

I FoAt A P-a/A v B/
(@) a1

(b) FF 2

(c) 1 3R 23E

(d A 1M 2

107. W9 #, ¥Wd # 39FEW F@ F WA g

wHEl # (e wIm) wfe 3 #1 weE
1 o917

(a) 30T % T et Tour F w9 A
HTH M

(b) Tafem ¥ A sEwEw@S A g0 w@
(c) SPTEl ¥ SHRA TS WTH HET
(d) ¥mra fram (§eifam) wnfia s



101. Which one of the following is the only

riverine major port in India?
(a) Mormugao

(b) Deendayal

(c) Kolkata

(d) Paradip

102. Which one of the following is not a desert

river?

(a) Barak

(b)) Rupen

(c) Banas

(d) Machchhu

103. The heaviest rocks, which are rolled

along the river bed in river transport,
come under which type of load?

(a) Solution load
(b) Suspension load
(c) Saltation load
(d) Traction load

104. Which of the following factors are needed

for the growth of corals?
1. Freshwater
2. Clear shallow salt water

3. Plenty of sunlight for photo-
synthesis

4. Warm water between 23 °C and
25°C

Select the correct answer using the code

given below.

(a) 1, 3 and 4 only

(b) 2, 3 and 4 only

() 1 and 2 only

(d 1,2, 3 and 4
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105. Convection currents, which move the

tectonic plates, are found in which layer
of the earth?

(a) Crust
(b) Mantle
(c) Outer core

(d) Inner core

106. Consider the following statements :

1. The growth of socialist tendency
in the national movement led to
the foundation of the Congress
Socialist Party in 1934 under the
leadership of Acharya Narendra
Deva and Jayaprakash Narayan.

2. In 1936, Jawaharlal Nehru urged
the Congress to accept socialism
as its goal and to bring itself closer
to the peasantry and the working
class.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

107. Initially, what was the purpose of

setting up of the hill stations during
the colonial period in India?

(a) To serve as winter capitals for the
British

(b) To serve the needs of the British
army

(c) To source timber from forests

(d) To set up sanatoria

[P.T.O.



108. 0 ¥ FH uH G F HEIH A7

(@) FETHEA FTH
(b) FE IR A
(c) THTHT =

(d) & FAR T

109, 1741 3fr I 184 wa= & P=faias

w12 frem Aaeit & wr 3 famw Aifg
1. weA foe

2. TSI WR
3. e W
4. A VR

frafaflas & ¥ swfe Jmsit #1 wd FeEw
-1 87

(@ 3-2-4-1
(b) 1-2-3—4
(¢ 3-4-1-2

(d) 2-3-1-4

110. F=fefan wie gd & | #17 Fjo wie e @

wag e 27
(@) HEAR
(b) THH

(c) <]
(d) =4
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111, 9@ Tf SegE w7 Rm 3, st sEEd

2021 ¥ Fer 917
(a) 9T§eTe
(b) W

(c) FEMfE

(d) HEE

112. 5F 2021 #, g0 # y& i 1§ E-100 v

@ (YEee geee), Fefafas #§ @
fras 3earEa 3 faam & gafta &7

(a) Hfae IRf=
(b) THHTE

(c) forga-ame
(d) T

113. fou wyiawm fRew, 2021 #F W W,

frefafaa # ¥ R i & Wi sam 9w
Toran man 87

(@) TIAM
(b) FT
(c) Teg-daman

(d) T



109. Consider the

108. Who among the following founded the

Dharma Sabha?

(a) Krishna Mohan Banerjee
(b) Keshab Chandra Sen

(c) Radhakanta Deb

(d) Akshay Kumar Datta

following Jat peasant

leaders of 17th and early 18th

centuries :

1. Badan Singh
2. Raja Ram Jat
3. Gokula Jat
4.

Churaman Jat

111. Volcano Mount Merapi, which erupted in

January 2021, is situated in

(a) Thailand

(b) China

(c) Indonesia

(d) Maldives

112. E-100 pilot project, launched in Pune in

June 2021, is related to the production
and distribution of

(a) COVID vaccine

Which one of the following is the correct (b) ethanol

chronological order of the above

leaders?

ing (c) electric vehicle

P Apaed (d) ethane

(b) 1-2-3-4

(c) 3-4-1-2

() 2-3-1-4 113. On the occasion of the World

Environment Day, 2021, which one of
the following was declared as a National

: 3 Park in India?
110. Who among the following Bhakti saints

did not belong to Nirguna School of

Bhakti? (a) Raimona
(a) Kabir (b) Orang
(b) Nanak
(c) Dibru-Saikhowa
(c) Dadu
(d) Chaitanya (d) Nameri
JNMK-F-BGS/67A ' 39 | P.T.O.



114. SHEER Mo 6 s (dfifen siferem) @ 117. g=-1 1 g1 *F Wy gafaa it ik

wafyd faare & ar F= 9w P e, gfea F = Ry T g2 = @ w el I
2021 % gE A0 A 37 | B w2 v ¥7 g ;
(@) ! T -1 FE-11
. (wrfars-19 (STt weet AR
) ¥en fafersa ' A S
A. HH 1. WRa
3 ' B. & 2. § A
(d) e TR C. 3. faA
D. & 4. =& arfiem
115, T B a0 s P wwed @ A i
o #an § wfifea e o ¥ g9 fra 2w A 2B G
¥ W g o &7 < R Rt 5
e il Bl KR D
(@) Fo ThHo T ¥ vkl oy
(b) & B AT RE ET D
B0 et EHR |
(c) T=IA
ks BE LD
@ R Eooin. v ey

4 z 118, YRATE qE&S 9qe Tl SE w6l i
116. fF 2w g wwam@ ‘d%d (Tauktae) fraferfag & ¥ ey g Bear T, Raa
A o T en? A 7 2021 F g7

(@) T (@) wod wret frgad fafis
(b) EER ; (b) wEE FrA Rard fafies
(c) A (c) o fegeam fand fafie
GG (@) e viven Rreed fefiids
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114. Who among the following has withdrawn

from the French Open

Tournament, 2021 in second
after controversy over
obligations?

(a) Coco Gauff

(b) Serena Williams

(c) Ana Bogdan

(d) Naomi Osaka

115. Heron drones, inducted by

Tennis

round
media

Indian

forces for enhancing their surveillance

capabilities, are acquired from

(a) USA

(b) Russia

(c) Israel

(d) Japan

116. Cyclone ‘Tauktae’ was named by

(a) Maldives

(b) Myanmar

(c) Oman

(d) Iran

JNMK-F-BGS/67A

117. Match List-I with List-Il and select the
correct answer using the code given
below the Lists :

List-I List-IT
(Variant of (First identified in)
COVID-19)

A. Alpha 1. India

B. Beta 2. Brazil

C. Gamma 3. Britain

D. Delta 4. South Africa
Code :

T WS R S
R e e

a- K- 2R 0P
e T TS

e e R RS
- s

) Acalts QiirD

118. Indian Coast Guard Offshore Patrol
Vessel ‘Sajag’, which was commissioned
in May 2021, was constructed by

(a) M/s Bharati Shipyard Limited
(b) M/s Cochin Shipyard Limited
(¢) M/s Hindustan Shipyard Limited

(d) M/s Goa Shipyard Limited
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119. T ¥ F14 wra # uftadi §sht (Afgaa FHftea)
Ft w e fadeg wffa F sam 9, Gm
wfafa 3w @ & a1t R wega i 7

(@) o do FoH
(b) e T

(c) T;‘IOf’HTﬂ@'q
(d) e qiiE

120. F=fafaa # & frg w=a = Aifd (NITI) ST
TR 9 gunim e @s e 1o,
2020-21 % yyw T firen 27
(a) Teom=e wem
(b) diHETg
(c)

(d) T

121. ffaflgs & @ ¥9-w a9 wemmm Rew,
2021 =1 fawg (dm) 27

(@) Gurofa FErEPR % fefg Fawada
(b) HEHEFR : Siaq 3R ATsiifae
(c) et 3R WEEPR

(d) TAR FEHERRI I THT

122. 7dHa9 WiEeR (Chandler) & TaHe 394
(dio Sfto Sfio 3113) # WRA & FH-W WH
W BN ¥, S wHH gmed iR eRomd %
Faf # 104 it 1 Fffepa Fa 17

(@) 493
(b) 59af
(c) 69af
(@) 794t
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123. 7@ & #, "o THe o HRe-Tde Hio TeAo

0 F w3 R wER F fagm sl
nefE fawm (fo e Ho) A &
e @ ¥ weEm ¥, giwa sk
wWReEF W9 TW A 6 g Afiea
e TPl feRm 21 W e
drenfiht &1 9 = R7

(a) TEHATR

124. fr=fafaa % @ fra feem #t 679 g few

TR (FARIR), 2021 ¥ qaiawr e Ao
# wdas fhen gean fran?

(@) S T3
(b) ATEE FAleH
(c) T A3

(d) TFarT—g A Fet

125. Frefafias gt # @ 6 2021 Fadga g

R &1 Tasian eifva feran mman?
(@) U2 T T T8 59 =A%
(b) 7 S5 3T Wl 37 qT
() 37t His g e 7 s

(d) T daR 3% T e



119. Who among the following was the Head

of the Expert Committee on Variable
Capital Company in India which has
submitted its report recently?

(a) K. P. Krishnan

Scientists at CSIR-NCL Pune, with

support from the Water Technology
Initiative of the Department of Science
and Technology (DST), Government of
India, have recently developed a novel

hybrid technology to bring safe and
healthy drinking water. What is the
name of the hybrid technology?

(b) Ketan Dalal
(c) J. Ranganayakulu

(d) Bobby Parikh (a) SafeWater
(b) SWASTIIK
120. Which one of the following States ranked
first on Sustainable Development (c) Arsiron Nilogon
Goal India Index, 2020-21 released by
NITI Aayog? (d) Fluoride Nilogon

(a) Himachal Pradesh

®):. Tavg) Nagu 124. Which one of the following films has won
(c) Kerala the Best Film Award in Environment

(d) Goa Conservation category at the 67th
National Film Awards, 20217

121. Which one of the following is the theme (@) Jonaki Porua

of the World Ocean Day, 2021?
(b) Wild Karnataka
(a) Innovation for a Sustainable Ocean

(b) The Ocean : Life and Livelihoods (c) Water Burial

() Gender and Oceans (d) Ronuwa—Who Never Surrender
(d) Clean Our Oceans

125. Which one of the following books
was declared winner of the 2021
International Booker Prize?

122. In the latest Chandler Good Government
Index (CGGI), which classifies 104
countries in terms of government

capabilities and outcomes, India has (a) At Night All Blood is Black

been ranked

(@ 49th (b) The Dangers of Smoking in Bed
(b) 59th (c) When We Cease to Understand the
(©) 69th World

(d) 79th (d) The War of the Poor
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